
a}=kmf=174

bfloTj ?= ;DklQ ?=

1= a}lsé clkm;df gf]^ df}Hbft 7,526,642,863   1= ljb]zL d"b|f / ;]So"l/^L 458,347,682,000

2= rng rNtLdf /x]sf] gf]^ 450,821,039,137

hDdf lgisflzt gf]^ 458,347,682,000

hDdf bfloTj 458,347,682,000   hDdf ;DklQ 458,347,682,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 7,526,642,863
2 ;fwf/)f hu]*f sf]if 25,974,792,905   2  /]RsL -
3 df}lb|s bfloTj sf]if 5,086,563,008   3  ljb]zL d"b|f 24,327,950,029
4 ljsf; sf]ifx? 23,350,588,499   4  ljb]zL a}+s df}Hbft 66,025,055,950
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 1,019,567,177
6 ;^xL ;lds/)f sf]if 58,821,697,889   6  ljb]zL a)* 133,894,637,307
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 9,209,892
9 lgIf]k      -v_ ljb]zL 51,370
   -s_ g]kfn ;/sf/ 299,643,297,480   8  nufgL
   -v_ afl)fHo a}°x? 143,502,022,168      s= ljb]zL ;]So"l/^L 281,532,734,317
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 102,281,517,356
   -#_ cGo 34,359,791,351      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,795,703,460
10 e"QmfgL lbg"kg]{ lan 504,002,781      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 10,133,152,232      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 62,873,031,391      v= jfl)fHo a}+sx?nfO{ 12,380,236,898

     u= ljQLo ;+:yfx?nfO{ 1,064,431,538
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,935,272,358
  10 ;"g df}Hbft 1,875,634,901
  11= cGo ;DklQ 36,861,671,062

hDdf OSjL^L tyf bfloTj 675,561,316,478   hDdf ;DklQ 675,561,316,478
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